cssl34 NOUN EXAM

Question
The two high-pressure belts produce two wind systems which blow in
directions

Answer
opposite

Question
The climate of Nigeria is due to the effects of two belts of high
pressure and one belt of

Answer
low pressure

Question
is the weight of the air above the ground at a certain place

Answer
Atmospheric

Question
The rivers of Nigeria are characterised by flow.

Answer
seasonal

Question
Piracy is a common criminal activity in the area

Answer
coastal

Question
Lake Chad is very important to the Nigeria economy because it supports a
large population

Answer
fishing

Question
Countries bordering Nigeria are mostly speaking

Answer



french

Question

____1is four times the area of Ghana and about thirteen times the area of
Sierra Leone. It is four times the area of the United Kingdom and covers
about one seventh of the productive area of West Africa

Answer
nigeria

Question
Nigeria is located in West Africa, roughly between Latitude 4°N and 14°N
and Longitudes 4°E and

Answer
15°E

Question
People and Places are key concerns between the subject matter of and
Criminology and Security Studies.

Answer
geography

1. The scientific study of the earth's surface, physical features,
climate, divisions, products, population etc is known as
ANS: GEOGRAPHY

2. The total land area of Nigeria is measured as
ANS:923,768 square km

3. Nigeria has a coastline of about kilometres
ANS: 860

4. Criminology and security studies may be carried out at various levels
including
ANS: All the above

5. The concept of security cover a very wide field including
ANS: all of the above

6. Freedom or protection from danger or worry is termed

ans: Security

7. One of these is not Nigeria's immediate neighbour
ans: none of the above

8. Crime is an offence for which one may be punished by
ans: law




9. The study of crime is known as
ans: Criminology



